Jonathan Spiker’s Output

ÏÏ«Ï ----jGRASP exec: C:\Documents and Settings\Spiker\Desktop\CS 240\Assignment 9 - ourQueue\testQueue
ÏÏ§Ï
ÏÏ§Ï
ÏÏ§ÏTesting the addSomething procedure...
ÏÏ§ÏPutting 5 in testQueue...
ÏÏ§ÏPutting 7 in testQueue...
ÏÏ§ÏPutting 9 in testQueue...
ÏÏ§ÏPutting 11 in testQueue...
ÏÏ§ÏThe queue now consists of these elements:
ÏÏ§ÏThe element at location 1 is 5
ÏÏ§ÏThe element at location 2 is 7
ÏÏ§ÏThe element at location 3 is 9
ÏÏ§ÏThe element at location 4 is 11
ÏÏ§Ï
ÏÏ§ÏTesting the removeSomething procedure that allows us to see the value removed...
ÏÏ§ÏRemoving the first element which is: 5
ÏÏ§ÏThe queue now consists of these elements:
ÏÏ§ÏThe element at location 1 is 7
ÏÏ§ÏThe element at location 2 is 9
ÏÏ§ÏThe element at location 3 is 11
ÏÏ§Ï
ÏÏ§ÏTesting the removeSomething procedure that doesn't allow us to see the value removed...
ÏÏ§ÏRemoving the first element...
ÏÏ§ÏThe queue now consists of these elements:
ÏÏ§ÏThe element at location 1 is 9
ÏÏ§ÏThe element at location 2 is 11
ÏÏ§Ï
ÏÏ§ÏTesting the sizeOfThing function...
ÏÏ§ÏThe size of the queue is: 2
ÏÏ§Ï
ÏÏ§ÏTesting the firstThing function...
ÏÏ§ÏThe value of the first element is: 9
ÏÏ§Ï
ÏÏ§ÏTesting the isThingEmpty function...
ÏÏ§ÏIs the queue empty? No, the queue is not empty.
ÏÏ§Ï
ÏÏ§ÏTesting the makeEmpty procedure...
ÏÏ§ÏIf the queue is empty, then the size will be 0.
ÏÏ§ÏEmptying the queue...
ÏÏ§ÏThe size is now: 0
ÏÏ§Ï
ÏÏ§ÏTesting the isThingEmpty function again...
ÏÏ§ÏIs the queue empty? Yes, the queue is empty.
ÏÏ§Ï
ÏÏ§ÏFilling the queue
ÏÏ§ÏPlacing 5 into the queue...
ÏÏ§ÏPlacing 10 into the queue...
ÏÏ§ÏPlacing 15 into the queue...
ÏÏ§ÏPlacing 20 into the queue...
ÏÏ§ÏPlacing 25 into the queue...
ÏÏ§ÏPlacing 30 into the queue...
ÏÏ§ÏPlacing 35 into the queue...
ÏÏ§ÏPlacing 40 into the queue...
ÏÏ§ÏPlacing 45 into the queue...
ÏÏ§ÏPlacing 50 into the queue...
ÏÏ§ÏPlacing 55 into the queue...
ÏÏ§ÏPlacing 60 into the queue...
ÏÏ§ÏPlacing 65 into the queue...
ÏÏ§ÏPlacing 70 into the queue...
ÏÏ§ÏPlacing 75 into the queue...
ÏÏ§ÏPlacing 80 into the queue...
ÏÏ§ÏPlacing 85 into the queue...
ÏÏ§ÏPlacing 90 into the queue...
ÏÏ§ÏPlacing 95 into the queue...
ÏÏ§ÏPlacing 100 into the queue...
ÏÏ§ÏThe queue now consists of these elements:
ÏÏ§ÏThe element at location 1 is 5
ÏÏ§ÏThe element at location 2 is 10
ÏÏ§ÏThe element at location 3 is 15
ÏÏ§ÏThe element at location 4 is 20
ÏÏ§ÏThe element at location 5 is 25
ÏÏ§ÏThe element at location 6 is 30
ÏÏ§ÏThe element at location 7 is 35
ÏÏ§ÏThe element at location 8 is 40
ÏÏ§ÏThe element at location 9 is 45
ÏÏ§ÏThe element at location 10 is 50
ÏÏ§ÏThe element at location 11 is 55
ÏÏ§ÏThe element at location 12 is 60
ÏÏ§ÏThe element at location 13 is 65
ÏÏ§ÏThe element at location 14 is 70
ÏÏ§ÏThe element at location 15 is 75
ÏÏ§ÏThe element at location 16 is 80
ÏÏ§ÏThe element at location 17 is 85
ÏÏ§ÏThe element at location 18 is 90
ÏÏ§ÏThe element at location 19 is 95
ÏÏ§ÏThe element at location 20 is 100
ÏÏ§Ï
ÏÏ§ÏTesting the isThingFull function...
ÏÏ§ÏIs the queue full? Yes, the queue is full.
ÏÏ§Ï
ÏÏ§ÏLet's remove an item from the queue, which ends up being: 5
ÏÏ§ÏThe queue now consists of these elements:
ÏÏ§ÏThe element at location 1 is 10
ÏÏ§ÏThe element at location 2 is 15
ÏÏ§ÏThe element at location 3 is 20
ÏÏ§ÏThe element at location 4 is 25
ÏÏ§ÏThe element at location 5 is 30
ÏÏ§ÏThe element at location 6 is 35
ÏÏ§ÏThe element at location 7 is 40
ÏÏ§ÏThe element at location 8 is 45
ÏÏ§ÏThe element at location 9 is 50
ÏÏ§ÏThe element at location 10 is 55
ÏÏ§ÏThe element at location 11 is 60
ÏÏ§ÏThe element at location 12 is 65
ÏÏ§ÏThe element at location 13 is 70
ÏÏ§ÏThe element at location 14 is 75
ÏÏ§ÏThe element at location 15 is 80
ÏÏ§ÏThe element at location 16 is 85
ÏÏ§ÏThe element at location 17 is 90
ÏÏ§ÏThe element at location 18 is 95
ÏÏ§ÏThe element at location 19 is 100
ÏÏ§Ï
ÏÏ§ÏTesting the isThingFull function again...
ÏÏ§ÏIs the queue full now? No, the queue is not full.
ÏÏ§Ï
ÏÏ§ÏTesting the isThingInQueue function...
ÏÏ§ÏIs 55 an element of the queue? Yes, 55 is in the queue.
ÏÏ§Ï
ÏÏ§ÏTesting the isThingInQueue function again...
ÏÏ§ÏIs -99 an element of the queue? No, -99 is not in the queue.
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.
